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1. Use the Gelosia grid to work out 47 x 53

x [02]03]04|05|06|07|08]|09

4 02

5 03 09 | 12 18| 21 | 24

04 12| 16 24 | 28 | 32
05

06 18 | 24 36 | 42 | 48

07 21 | 28 42 | 49 | 56

08 24 | 32 48 | 56 | 64
AT X B3 = oo, 09
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2. Use the Gelosia grid to work out 17 x 34

x [02]03]04]05|06|07|08 |09

/ 02

03 09 | 12 18 | 21 | 24

04 12| 16 24 | 28 | 32
4 05

06 18 | 24 36 | 42 | 48

07 21 | 28 42 1 49 | 56

08 24 | 32 48 | 56 | 64
17 X B34 = oo 09

OO0 given x sign (8) SRS Learning Limited



teach-learn

given x sign (8)

timelypractice.com

3. Use the Gelosia grid to work out 512 x 31

X 1020304 ]05|06]|07 08|09
02

03 09 | 12 18121 1|24

04 12116 24| 28 | 32

05

06 18 | 24 36 | 42 | 48

07 21|28 42 149 | 56

08 24 | 32 48 | 56 | 64
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4. Use the Gelosia grid to work out 24 x 37  (you may use this incomplete times table grid)

x [02]03]04(05]06|07|08|09

2 02

3 03 09 | 12 18|21 | 24

04 12 | 16 24 | 28 | 32
05

06 18 | 24 36 | 42 | 48

07 21 | 28 42 | 49 | 56

08 24 | 32 48 | 56 | 64
24 X BT = oo, 09
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Answers

1. 2491
2. 378
3. 15 872

4. 888
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